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CHAPTER O1
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POINT1 sixit=AlA|

p. 16

| have studied Spanish since January.

Have you talked with Daniel before?

We have already watched the director’s latest movie.

My dad has gone to Sweden on business.

Carol has not eaten meat for five years.

Gary has never caught a cold in his life.

They have worked as engineers since 2020.

She has sold the car, and she will buy a new one.
The host has not sent the invitations yet.

10 The Olympic athletes have stayed in Seoul for a week.

6
7
8
9

POINT2 sixjt2zIsiAlx|

p.17

Mr. Clark began to fix the oven two hours ago. He is still fixing it.
Clark M= & AlZE Holl 222 1R|7| AIRRIC 2= 0fFs] 2AE DX 1 QY
ch
— Mr. Clark has been fixing the oven for two hours.

Clark M= & A2t S0t @EE TX|&= FO0|ct.

The police started to search for the suspect in 2021. The police are

still searching for the suspect.

AE2 20210 2IXHE B7| AIZRCH BE2 0{T5| QXS &1

- The police have been searching for the suspect since 2021.
BE2 2021H2E QXIS 3= FoIch

Jenny began to paint the house a week ago. She is still painting the
house.
JennyEs 2 Hof| TS Eot7| AERCE Jl4= 0{%s| TS Eotn UL
— Jenny has been painting the house for a week.
Jennye= 23 S0t T g Eot= FO|Ch
to
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The customers started
in line.
O £EHE2 XLt
Ct2| 3 ATt
— The customers have been waiting in line since last night.
O &HE2 RLHRE £2 MM 7|Ci2l= So|ct

wait in line last night. They are still waiting

EE MM 7ICi2(7| AIERICE OS2 05|

E2 MM 7|

Chris and | began to talk on the phone 30 minutes ago. We are still

talking on the phone.

Chris®t L= 302 TEE HSI=Z 0[0F7[5t7| AR

of7|5tm QUCt.

— Chris and | have been talking on the phone for 30 minutes.
Chris®t Lt= 302 =S¢t T&tZ 0|0k |5h= F0|ct
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The artist has been making the sculpture for five years.

The committee has been discussing the issue since this morning.

| have been riding a bicycle for three hours.

The students have been preparing for the school festival since noon.

10 Betty has been working at the hospital since last year.
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POINT 3

AR AIH| p.18

| couldn’t enter the stadium because | had not brought my ticket.

The plane had already left when Nicole arrived at the airport.

My father had been an accountant before he became a lawyer.

She found the key that she had lost last week.
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We had lived in the city for ten years before | graduated from middle
school.

Peter made a mistake because he had not been careful.

When they entered the classroom, the class had just begun.

He had studied French for five years when he visited France.

| had taken a shower before | went to bed.

10 After it had started raining, we closed the window.

POINT4 a2zl

p.19

| had been walking the dog for 30 minutes when | met my friends.

Sam had been doing his homework for a whole day before he took a
rest.

She had been playing the piano for 20 years when she became an
orchestra member.

He had been taking care of his brother for six hours until dinner.
It had been snowing for three days when she arrived in Sweden.

| had been preparing for the exam when my friends asked me to play
outside.

The thieves had been staying in the hotel for five days when the
police arrested them.

When | was born, my mom had been working as a science teacher.

Joan had been exercising hard for a few weeks before she took her
wedding pictures.

10 We had been looking for the gloves when he entered the room.

11 The cat had been sleeping for a while when the phone rang.

12 Matthew had been talking about lizards for an hour when | yawned.
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01 Have you ever seen whales in the ocean?

02 They looked tired because they had been walking for a long time.

03 The singer has been performing for an hour at the concert.
04 He had heard everything | said.
05 |t has snowed all night long in Chicago.

06 How long have you collected stamps as a hobby?

07 The students had been drawing pictures for four hours before the
teacher called them.

08 Everyone has been watching the war between the two countries
for years.

09 Clara had never been to a funeral yet.

10 Lucas has saved money for a new computer.

11 Jeremy has been enjoying spicy food since he moved to Korea.

12 Have you used this program before?

13 | had already been to the island before it got popular.

14 Greg has visited 15 countries since 2019.

15 He had been driving the car for ten years when his first car
accident happened.

16 The US has been celebrating Independence Day since 1785.

17 Has your teacher scolded other students in class?

18 Rachel had never seen jellyfish before she went to the aquarium.

19 My dad has worked as a doctor for 20 years.

20 My sister had been writing letters to Santa Claus before she
turned 13.

21 Steve and Kate have known each other since they met last year.

22 My girlfriend had left the restaurant before | arrived.

23 Lisa has been keeping a diary since she was five.




24 Joan dried her hair after she had finished washing her hair.

25 | have been taking dance lessons since | was eight.

26 Jack has lost his wallet at the station.
27 | had traveled to Venice before | worked there.
28 The children have been building a snowman for two hours.

29 We had called a taxi before we went outside.

30 Anna has been cleaning the table for 30 minutes.
31 have — had

32 planning — planned

33 have handed — handed

34 has — had

35 was — has been

36 has — had

37 knows — has known

38 stayed — have stayed
39 have — had
40 was — has been

41 He lost his bike because he had forgotten to put on a lock.

42 |t had rained last night and wet leaves covered the ground this

morning.
43 The bus had left when he arrived at the bus stop.
44 Dad had prepared the dinner before Mom came home.

45 This morning, Mandy had eaten breakfast before she did the

laundry.
46 Today, Peter had run in the park before he practiced for the
speech contest.
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| POINT1 used to, would p.26
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She used to have long hair when she attended middle school.

People used to believe that Earth was flat.

Emily and | used to be close friends before | moved to Daegu.

Donald didn’t use to pay attention during class.

Alice would spend every afternoon at the library when she was
young.

My family used to[would] visit my grandparents every weekend.
Ms. Adams used to[would] take a bus to work.
There used to be a big pond in the national park.

His brother used to[would] watch a lot of scary movies.

POINT 2 had better, would rather p.27

| would rather walk to school.

You had better bring your umbrella today.

| would rather play outside than stay in the classroom.

You had better not walk on the icy sidewalk.

| would rather not accept his suggestion.

| would rather wash the dishes than clean the house.

You had better apologize to Nancy tomorrow.

Sam said that he would rather not repair his car.

| would rather exercise than take a nap.

10 You had better not lose your passport when you travel abroad.

VO 00 N 00 U1 AN =

10 You could have dropped my camera when you moved the large box.

N o001 A NN =

POINT 3

ZZAL+ have + p.p. p.28

He must have enjoyed the parade.

The customer may have ordered the wrong product.

Emily should not have said that.

She could have prevented the fire by turning off the oven.

He cannot have slept well yesterday because of the loud noise.

You should have submitted your homework yesterday.

| may[might] have taken his class before, but | don’t remember.

Tom must have gone home early because his seat is empty.

Since the puzzle was really hard, Ashley cannot[can’t] have solved it
by herself.

POINT 4 should2] A4zt p.29

The flight attendant demanded that we return to our seats.

The teacher suggested that Tyler should read literature.

The company ordered the employees finish their work without delay.

They recommended that guests wear formal clothes.

Ben insists we should stop using plastic bags.

| suggested that we go out to eat dinner.
The weather forecaster insists that people stay at home during the

storm.

8 The man demanded that they lower the radio volume.
9 My father recommended that | should experience many things.

10 The police ordered that the suspect show his ID card.

JIEEI-IIEEX;LE:-IIEDEEI! p.30

01 The detective thinks that the accident must have happened
during the night.
02 The teacher said that bananas used to be expensive in Korea.

03 Dad used to tickle me a lot when | was little.

04 The door may have closed by itself.

05 The tour guide recommended that we try the traditional food.

06 You should have practiced the presentation when you had time.

07 The frame used to be hanging on the wall before.

08 Many kings used to build castles to defend themselves.

09 Aaron cannot have said such a thing.

10 The counselor suggested that Lisa take a higher level class.

11 Marie’s hair used to be blue until last month.

12 My family used to[would] go swimming at the lake every summer.

13 | would rather go to the movie than watch TV at home.

14 They may[might] have decided to volunteer at the animal shelter.
15 You had better not tell the truth to Eve.
16 My favorite hamburger used to cost four dollars until last year.

17 | used to[would] decorate the Christmas tree every December.

18 | would rather donate my money than keep it until | die.

19 Adam may[might] have agreed with your opinion about the book.

20 You had better not use your left hand when you shake hands in
Islamic countries.

21 not better = better not

22 stops — (should) stop

23 should = may[might

24 go —~ gone

25 would — used to

26 hadn’t better = had better not
27 extended — (should) extend

28 must — cannotcan’t

29 |eave — left

30 would — used to

31 Jeremy used to[would] practice the guitar every day, but now he
never plays it.

32 | should have made a reservation before | visited the restaurant.

33 There used to be three singers in the choir, but now there are five
singers.

34 Mr. Smith used to work at a bank, but he is retired now.

35 Nicole could have gone shopping instead of playing soccer with
her friends.

36 Eric used to be short when he was ten, but he is tall now.
37 You should have left your house earlier.

38 You must have delivered it to the wrong address.

39 | should not have played with the ball in the house.
40 You must have eaten my lunch.
41 A: Who is the man holding a hockey stick in the picture?

B: That is my dad. He used to[would] play hockey when he was
in college.

42 A: I'm finished with my school project about saving endangered
animals.
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B:

Oh, | could have helped you. I’'m interested in that issue.

43 A: According to the brochure, this hotel used to be a king’s

B:

44 A:

B

palace.
That’s why it looks so fancy.

| wonder why Joseph is crying now.

: He must have failed the test. The teacher announced the test

scores this morning.
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CHAPTER 03

NV 0 N o

POINT1 #$Selio] soln} Hef B2

The pianist will play those songs.
O GO |AEE T 2SS s Zo|Ct

— Those songs will be played by the pianist.
1 efSe O Dot AEo| 2js eiz=E! Zo]Ct.

The farmer hasn’t planted apple trees in the orchard.
O SHE M0 At LIRSS oX| AT

— Apple trees haven’t been planted in the orchard by the farmer.
ARt LIRS 2 S50f| 2laf 2h=0i| MO{X|X| AT

We must plan the trip today.

L2l & 1 0432 AsHorzt St

= The trip must be planned today by us.
T 02 2|0 Qs @5 A=l =|o{oFzt St

Students should wear the protective gloves during class.

SHMES A0 Zot 1 HE FZHS 77|0{0f BhCt.

— The protective gloves should be worn during class by students.
I HS U2 Y S0t sPdso| ofal 7|0{x0F St

Ms. Stevens is passing out the tickets.

Stevens M= EE LIEZF1 QICt

— The tickets are being passed out by Ms. Stevens.
H = Stevens M|0f| 2|3l LI K| QICt.

The gifts will be wrapped in red paper.

Mr. Trent said that he was being watched by someone.

Her face had been burned by the sun when | saw her.

This heater must be kept on during the winter.

POINT2 434 23o| 25¢) R

My dad bought my sister a grey jacket.

Lto| Oftith= Lt2| 01 SAoi| 7| &4 THZIS AFERUCE

— A grey jacket was bought for my sister by my dad.
3| A xHZI2 L2l oftttol| 2|5l Lt| 0 S Hof|AH| AFELCE.

The comedian told the audience a funny story.
1 30|C|2 2ofA| 221 0[op7|E FCt.

[y w e |

— The audience was told a funny story by the comedian.
2242 1 Fn|C|fo] 2ofsf 271 0|0F7|E SILC.

T —

Sumi wrote Mr. Williams a letter.

20| Williams M[0f|A| BX|S 4Ct.

— A letter was written to Mr. Williams by Sumi.
HX|7} =0]0f| 2|3l Williams M[0f|7| A£047Ct.

They asked the lawyer some questions.

OS2 HSAMO|A % 71X 2ES Fch

— The lawyer was asked some questions by them.
HS A= OS50l ol B 7HX| H2E Wttt

The police officer showed the old lady the way to the subway.
O ZE2 LI0|E oY 20fA X[SHE R TH= 22 HoiFUCH
— The old lady was shown the way to the subway by the police

officer.
LIO|E 0{ME2 1 ZEof ofalf Xt E 7t ZE Eo{{CH

Emperor Shah Jahan built the empress the Taj Mahal.

A AF RS2 207 EFX|OHEE X|01ZICH

— The Taj Mahal was built for the empress by Emperor Shah Jahan.
EfX|Oret2 2| Ak RFStof 2lsh &0l | X|ofRCt

The mittens were made for me by my grandmother.

| was given a receipt by the clerk.

The notice was sent to me by the bank.
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10 The food was brought to the customers by the robot. 10 The advance in technology is expected to make our lives convenient.

7l&e EH2 222 42 B2 HE0E A2 2 J|chEIC:

POINT 3 534 23to| +Sef p.38
POINT5 FSAte| =Sk p. 40
1 | found the box empty.
L O &R7HE WS AT
— The box was found empty by me.
T AXE7E Lol 2fsh HI0{lE XS LOFECEH

The offer was turned down by Jason.

The problem will be dealt with by the police officer.
The children were taken care of[looked after] by their dad.

2 The owner told the dog to sit.
0 012 T Jlof|A| oteetn 2hiCt
— The dog was told to sit by the owner.

3 i 2 Feloj| ofsl gtegk= e SUC

The festival was put off because of rain.

The Indians were looked down on by the British in the 1800s.

The oven was turned off by the chef.

3 People called the man a national hero.
AIHE2 1 HRE F715el 4&80[2ta E3{ch
— The man was called a national hero (by people).
0 Hxh= Al olsl =7 el 3gol2tn ERIct

Mr. Wilson was looked up to by his students.

Those kittens were taken care of[looked after] by my mom.

VO 00 N O U1 AW N =

Media can be made use of by government.

4 Many people heard the choir sing. 10 The lights were turned on and they looked like stars.

ke AlZHE0| O gHEH0| Lalshs A2 St 11 Various topics were dealt with at the meeting.
— The choir was heard to sing by many people.
0 SEthe B2 AREO| olsl alishz 230] SoiAiCh

5 The doctor advised him to start exercising. POINT 6 by 0[2[2] MX|AS M= SEY p. 41

3 9k J0jH| 2 sts AS AIRE HE ZARCL

— He was advised to start exercising by the doctor.

2= 3 9JMof| 25l 2SstE AE AlEE AE = HRAC

The mountain is covered with snow all year.

Kevin was worried about the math exam.

6 Economists expected housing prices to rise.
ZHERIE2 Ha0| RE A2 ol 4Fict
— Housing prices were expected to rise by economists.
T2 ZHEKRIE| 28 2E Aol o A=At

The Maori are known as fierce warriors.

The library was crowded with students.

Those burgers are made of soy patties.

7 The baby was kept warm by the blanket.

Jenna was surprised at the price of the cake.

8 Maria was elected the class president by the students.

My dog was pleased with the new toy.

9 Guests were asked to leave their umbrellas at the door.

Meditation’s effect is known to a lot of people.

VO 00 N O U1 AW N =

10 The children were made to wash their hands by their mom.

The vase is filled with sand and pebbles.
10 Everyone was disappointed with the ending of the movie.

POINT 4 ==x0{7} that&ol 2ato| A =¢| 539 11 My brother is interested in rock climbing.
- Earth is known to travel around the Sun.
A= B 915 ECts 20l &2iM UL, 1 The bicycle was lent to Diana by her friend.
2 Some people say that aliens exist. 2 Those paper bags should be put in the recycling box.
O AIZIS2 2|A|210] EXHSHCIL 2SHCE
~ Aliens are said to exist by some people. 3 The politician was surprised at the result of the election.
Al EX|SHCIT OftH ARRMS 0] o3l Sl EIC 4 The broken plates will be replaced with new ones.
3 Scientists expect that all the ice caps will melt soon. 5 The thief was seen to rob the bank by Tom.
DRSS = BE WAH0 =5 A0l2H1 O SSiTt 6 The snowman was built for the girl by her parents.
- It is expected that all the ice caps will melt soon by scientists. 7 Germs can be removed easily[easily be removed/be easily

Z ZE oHAMo| =2 Z0[2tn BEIxHSol| ofaf ol AEICH removed] by using soap
4 People believe that gold is a symbol of wealth. 8 Customers were disappointed with the quality of the new

Agts2 Zo| 2ol AFofan e,

roduct.

- Gold is believed to be a symbol of wealth. = o )

Ze =o| AFElo|2ta Wo{EICH, 9 My hair is being cut by the hairdresser.

5 Some people think that exercising is important for health. 10 Potato sprouts are considered to be poisonous.

Ol Al E2 250| 7ol Z23tCta W25t 11 The package was sent to me by Fred.
= It is thought that exercising is important for health by some 12 Stress can be relieved by exercising.

people. i

SES Azbo| ZQ5ICHD OfE AIZIS 0| o|sh AZteict. 13 It was noticed that the exam was canceled.

6 26 million babies are expected to be born this year. vl eiknownlsiel ity

2X16EH0E 340| 0}7|7} 238l Efo{ Z{O 2 Of| AF=ICY. 15 The baby was made to cry by the noise outside.
7 Bananas are said to lower blood pressure. 16 The necklace was given to Mom by Dad.
HiLHLHE ers WECkn e EIc) 17 The case should be decided by the judge.

8 ltis believed that Columbus found the Americas in 1492. 18 It was said that the Hangang is the symbol of Seoul.
ZEMAT14921H0| O[S S YACHD 2o ZICE

19 The airport was crowded with tourists from France.

9 Itis known that the seas around Dokdo are rich in natural resources.
= RO  HICH: MAXIRI0| 285 A= 2K QACH

20 A lot of efforts were made to save the endangered animals.

8 0] A3E =0iF = Cfst sk Xt= H|2 HackersBook.com



21 The window had been opened by Rachel before she swept the

floor.

22 The surprise party will be prepared by Anna and her friends
tomorrow.

23 James is thought to be a smart student by everyone.

24 The faucet has been repaired for two hours by the plumber.

25 |t is known that smoking is really bad for health.

26 The rose tree had been grown by my dad since | was five years

old.
27 The dishes should be washed by us before we cook dinner.

28 A four-leaf-clover is believed to bring good luck by people.

29 The old door has been painted blue by them since yesterday.

30 It is said that working four days a week will improve work
efficiency.
31 Marie Curie is known as the mother of modern physics.

32 The patient was given some pills by the doctor.

33 Hanna made a suggestion, but it was turned down by the
committee.

34 Brian was pleased with his favorite author’s new novel.

35 Everyone was asked to take off their shoes by the instructor.

36 The customers were satisfied with the restaurant’s service.

37 Everyone should be interested in environmental problems.

38 The pyramids were built for dead pharaohs in the past.

39 This project has been put off by the CEO until next year.

40 The bottom of the lake was covered with plastic waste.

41 People were advised to remain indoors for safety by the
government.
42 The old buildings of the temple were made of wood.

43 History was taught to students by Mr. Riley at school.

44 Many questions should be asked of the president by the
reporters.

45 The artwork was shown to the public by the museum after 20
years.

46 These cars must be fixed for the car racers by professional
mechanics.

47 A: Did you use any butter to bake this cake?
B: No. It is made from coconut oil.

48 A: When should we turn in our homework?
B: The reports have been collected by the teacher already.
49 A: How did you like the movie you watched yesterday?
B: My friends and | were disappointed with it. Its plot was
ridiculous.

50 A: Has there been an increase in car accidents lately?
B: Many accidents have been caused by careless driving.
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CHAPTER 04

S3Al

| POINT1 A dES sh= to8AL p.48

It is easy to swim with flippers.
She wasn’t sure what she should do with the potatoes.

Dad made it a rule to come home by 10.

Did you decide where to go for the holidays?

| thought it strange to see a bear walking through the town.

The bakery found it necessary to raise the price of its bread.

N o0 0 A NN =

Did the pharmacist tell you when to take[when you should take] the

pill?
8 Do you know how to get[how you should get] to the airport?

9 It was difficult to visit foreign countries until the 1980s.

10 | found it easy to learn English grammar.

POINT2 &8A/SAL A& SH= toR WAL P49

This mountain is hard to climb.
Amy wrote a letter to him to apologize for her mistake.

They must be students to wear those uniforms.

Will you bring me a spoon to eat with?

We were surprised to see the koala in the forest.

Leonardo da Vinci lived to be 67 years old.

| don’t have anything to wear in the closet.

The chef was satisfied to see the fresh ingredients.

VO 0 N O U AN =

There aren’t any towels to use in the bathroom.

10 We should leave early to avoid the traffic.

POINT3 =Xz Ho|Z M0|= toRHAL p. 50

Sam wanted his friend to visit him on Saturday.

My grandmother asked me to find her glasses.

The teacher encouraged the children to write down their ideas.

The judge ordered him to leave the court.

Team sports allow us to understand the value of teamwork.

Dr. Foster advised his patient to sleep more.

Everyone expected Fiona to become our class president.

His experiences enabled him to be chosen as CEO.

VO 0O N o0 U1 AN =

| told them to stop fighting over the cookies.

10 Mass production allowed industrialization to speed up.

POINT 4 Z=x7 HO|Z M0|= ASHEHA 051
252 Hoj |= ISEEAL

1 On the cruise, we will watch the dolphins swim.
ARX0|M, R2l= Snei7t +F5t= A2 = AoICh

2 Mr. Jordan allowed the students to use laptops in class.
Jordan MMHE SPES0[ ¢ AlZt0ll ESS AM8st= WS s{2feliFAlCt

3 The police got the driver to stop the car.
ZE2 2R RS YA

4 The lawyer had his client wait during the phone call.
O WS A= S35t S0 22| 11240| 7|CH2|A| 3HC.

5 | felt my eyes swell[swelling] while | was crying.

LI L S0 L £0] £E(2T 9I5) US T

We saw the tree fall because of the wind.
Andrew helped the old lady walk[to walk] across the street.

The coach made us practice for several hours.

O 0 N o

They heard their names called by the nurse.

10 Chloe smelled something burn[burning] in the kitchen.

POINT5 tos&Ate| ojojAt 0] p.52

1 You helped my grandfather. It was kind.
Ui Lol SoMHX|IE B2ttt 2 ZIEFC

— |t was kind of you to help my grandfather.
U7} Lto| EOoHHX|E =R ZI-EHCH

2 The roller coaster is dangerous. Children can’t ride it.
1 E2{FAHE IFsict ofzlol= a2 2 4 Qich
— The roller coaster is dangerous for children to ride.
Of210|7} EF7[0f| T E2{BAEE= L&)

3 He admitted his mistake. It was honest.
0 J9| M4E ol IS SN0,

— |t was honest of him to admit his mistake.
JE Jof M4E elFeiri] SE3Ct

4 You told everyone the secret. It was careless.
L= RE AlRSolP HIZS L IS BRL
— |t was careless of you to tell everyone the secret.
U7t 2E A0l HIZES HsiCH| B304t
5 James made me a pancake. | had it.
Jamesi= LI0f|7| ©7H|0|2E SHEO{FICE L= OIS HAULE
— James made a pancake for me to have.
Jamese= L7 HE #7|0[2 5 THERACH

Farmers left some berries for birds to eat.

It was wise of her to plan ahead.

It was nice of you to invite us to dinner.

O 0O N o

Fruit smoothies are healthy for us to drink.

10 | bought a warm coat for you to wear.

POINT 6 to:XA 2 p.53

1 Jamie is so tall that she can’t wear that coat.
Jamie= HE HAM 1 TEE S 4 9jCt.
— Jamie is too tall to wear that coat.
Jamie= 1 3EE 7|0 HS 3C

2 |t seemed that the suspect was lying.
— The suspect seemed to be lying.
1 olxts 7{32e ote A 2
3 The lake was so warm that we could swim in it.
47 Y2 TSN 221 1 QoA 8 4 9ICk
— The lake was warm enough to swim in.
S5 1 ol =Fst|0| S=5| WHSERYC

4 This land is fertile enough for plants to grow.
0] g2 A|20| X2t7|0l| 23] H|Ss|Ch
— This land is so fertile that plants can grow.
ol 2 H HISsiA AZS0| Krzt 4 k.

5 It was too cold for us to play outside.
S2|7HHPZOIM S7]0f 42 FACH
- |t was so cold that we couldn’t play outside.
2 9IM 2ale 8iZolM 5 4 gigict
6 Steven was too tired to stay up.
Steven2 H0{247 |0 L4 m|ZFHCt.
— Steven was so tired that he couldn’t stay up.
Steven2 LS m|ZaiA THHAS == ARACH

7 The trash can was too dirty for us to touch.
O 227|882 2|7} BHX|7|off 42 H2{Ich
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— The trash can was so dirty that we couldn’t touch it.
O ME7|S2 1R LM 2|7 BF 4= gIRICh

8 It seems that the customer is satisfied with the product.

— The customer seems to be satisfied with the product.
O M2 ®ZEof BHEste A 2t

9 The lock was so weak that thieves could break in.
1 RgalE 1S oM ESS0| Hele 4 AT
— The lock was weak enough for thieves to break in.
O X2 ==E50| EYst7[ol S23| AFiCh

10 Fish are becoming so expensive that we can’t feed them to the
penguins.
AH0| L2 BRI QlofA P2l IRES BASOIA HY 4 gict.
— Fish are becoming too expensive to feed the penguins.
Mo] WSOl Ho|7|ofl LS HIMK| L Q{CH.

41 |t was foolish of you to walk barefoot.

42 Everyone heard the man complain[complaining].

43 |s it difficult for you to live without a cell phone these days?

44 He made us clean the gym after class.

45 The sun was hot enough to cook an egg on the street.

46 |t is hard for me to get up early.

47 Bella expects her friend to call her soon.

48 |t is dangerous to drive on an icy road in winter.

49 Jenny told me not to believe superstitions.

50 The math question was complicated enough for me to give up.

IETHI ZrE x|z orgai) p.54

01 The dragonfly is flying too high to catch.

02 Technological advances allowed us to work from home.

03 He sent me a poem to read by email.

04 Would you tell me where to buy the train tickets?

05 |t is important for us to experience new things.

06 The horse was too slow to win the race.

07 No one expected the economy to crash so fast.

08 Will you give me a piece of paper to write on?

09 This brochure explains how to use this machine in detail.

10 It was silly of you to trust his promises again.

11 It is necessary to be careful in a chemical laboratory.

12 | have interesting news to tell you.

13 We saw someone hide[hiding] behind the tree.

14 The tourist stopped by the information center to ask for directions.

15 The old man was looking for a chair to sit on.

16 It is always exciting to meet new people.

17 There isn’t any gym to sign up for near my house.

18 | heard him shout[shouting] angrily on the phone.

19 The citizen representatives asked for a meeting to discuss the
matter.

20 You need a friend to talk to about your problem.

21 |t is important to protect wild animals for the future.

22 The water seems to be leaking from the pipe.

23 The weather is too humid for laundry to dry.

24 The door isn’t so wide that the refrigerator can’t pass through.

25 |t seemed that the man was pleased with his new pants.

26 It took a long time for me to plan our trip to Europe.

27 It seemed that the rain fell all night long.

28 The job offer was so good that Larry couldn’t refuse it.

29 My grandmother is so healthy that she can travel long distances.

30 Harry seemed to be lying about his grade.

31 They were happy to finish their homework.

32 | am searching for a place to stay in London.

33 It is impossible for a human to run faster than a cheetah.

34 He forgot when to visit[he should visit] the dentist.

35 The sea is too rough for us to swim in.

36 The ballerina is excited to perform on the stage.

37 There are many balls for the dog to play with.

38 Was it interesting for you to study physics in college?

39 Let me know how to pay[how | should pay] the rent.

40 The fork is too dirty for me to eat with.
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CHAPTER 05
=SAl

| POINT 1 SWAe| SHEfiQt 22l p.60

1 Not getting enough sleep can make people tired.
23 HE XX| Rote A2 AMES LZsH| 2 4 9UCk

2 | am sorry for bothering you.
HE WalfsiAf OjQtstrt.

3 Taking pictures of birds is my hobby.

MZ2| ArElE A= A2 Lo #{Ojo|Ct.

4 Tony apologized for spilling coffee on the table.
Tony= AE0f| Hu|E S2I Z10|| sl AfntiCt

5 Michael enjoys surfing on huge waves.
Michael2 7{C2t Tz 0fl M MTsts 242 Z7Ich

| quit wasting my time on spreading gossip.

Avoiding the problem will make the situation worse.

6
7
8 Their goal was landing the spacecraft on the moon.
9 David regretted not helping his friend.

10 Janice kept asking why | was late.

POINT2 S%AL} toRFAR SH0|2 M= SA p. 61

My dog enjoys chewing the shoelaces.

Mr. Swan promised to take his daughter to the park.

The insurance company agreed to pay for the damages.

We considered remodeling our house before winter.

Sarah gave up running for student president.

Children must learn to behave at the table.

We plan to advertise our product more actively.

He kept jumping on the bed.

O O N O U1 AW N =

Our class practiced singing for the talent show.

POINT 3 ZSgiAlQl toRFAIE BE EX0|R2 M= EA p.62

They tried using the machine beforehand.

| regret to inform you that your flight has been delayed.
Never stop trying to improve your grades.

She continued running until she saw the crosswalk.

He remembers visiting New York when he was a kid.

| forgot speaking to you earlier on the phone.

Marathoners are trying to finish the race.

She always remembers to turn off the lights before leaving.

VO O N o0 AN =

The criminal regretted stealing the painting.

10 My cat likes chasing[to chase] birds in the backyard.

POINT4 =3Atztg 53 BE

| feel like watching the newly released movie.

Ben’s mom kept him from playing computer games.

Henry was busy preparing dinner for his family.

You can decorate the room by hanging some pictures.
On opening the door, | greeted my friend.

(S T S

14 90{ AlES =0{=L= CeFst 514 Xt2 M2 HackersBook.com

I’'m not used to wearing makeup.

Anne had trouble concentrating in class.

6
7
8 | couldn’t help smiling when | saw the present.
9 We thanked Noah for inviting us to the picnic.

10 The boys spent the day reading comic books.

JI;-EI-II;’U;LEI-II:HEEI! p.64

01 Playing badminton is always fun.

02 My little sister had trouble tying her shoes in the morning.

03 | don’t mind swimming in cold water.

04 Chris spent all his savings helping the poor this year.

05 Finishing the race made me proud of myself.

06 Gardening is my mom’s hobby.

07 Matt thanked me for taking care of his dog while he was away.

08 She enjoys watching movies on the weekend.

09 He will be busy preparing for the birthday party tomorrow.

10 Eating the wild mushroom caused food poisoning.

11 Carol forgot lending me her hat yesterday.

12 Rick kept coughing during the class.
13 We continued studying[to study] despite the noise.

14 They gave up persuading James to join their club.
15 We regret to inform you that the elevator is out of order.
16 | forgot to water the plants before | left.

17 Mr. Smith considered hiring an interpreter for the meeting.

18 The twins started arguing[to argue] about their favorite soccer
teams.

19 The thief avoided answering questions at the police station.
20 George regretted being rude to his science teacher.
21 Aaron needs to talk about his grade with his parents.

22 Making a campfire with wood isn’t difficult.

23 On arriving at the airport, | saw my family.

24 Sarah promised to keep in touch with me when she travels in
Canada.

25 | look forward to getting your postcard.

26 Britney finished drawing beautiful flowers on the wall.

27 Baking cookies and cakes for my friends is always fun.

28 Mr. Klein’s idea is worth considering.

29 They hope to improve their health by exercising regularly.

30 Dave is used to having dinner by himself.
31 | feel like relaxing at home today.

32 Henry got angry at me for not telling the truth.
33 The children couldn’t help eating the cookie house.

34 Mr. Holmes was interested in solving crimes.

35 The class is busy taking a test now.

36 Not using shampoo is an easy way to protect the environment.

37 The gymnast had trouble[difficulty] keeping the balance.

38 Hannah went skiing instead of skating.

39 A: Jack, did you throw out the trash?
B: Oops, | forgot to throw it out. I'll do it now.

40 A: The sun is so strong today.

B: You can protect your skin by using sunscreen.
41 A: Do you remember the trip to Gyeongju?

B: Yeah. | remember seeing Cheomseongdae there.
42 A: The cream soup is boiling.

B: Keep stirring to prevent it from burning.




43 Nate: Thank you for inviting me to dinner.

44 Jess: | was busy studying for the math exam.
45 Anne: I’'m looking forward to going fishing on the weekend.
46 Eric: | feel like taking a break before riding bumper cars.
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| POINT1

The firefighters entered the burning building.

Jeremy threw out the rotten carrot.

The house was robbed by two burglars.

We saw the singers dancing on the stage.

Pour the boiling water into the bowl.

The kite flying in the sky is mine.

David wanted the tree trimmed in a diamond shape.

1
2
3
4
5 The children are looking for the presents hidden in the room.
6
7
8
9

Bailey’s essay included interesting perspectives.

10 The quiz given by Mr. Stevens was very confusing.

11 You can’t refund the damaged items.

POINT 2

Zae LiENs 2o .7

-

A: Did you hear that Mr. Harris had a heart attack? He looked so
healthy.
= Harris A7t ME0OHIE
=R SE
B: Yeah. | was shocked by the news.
8. L= 1 AAoj| 528 2to].
: | wish they didn’t send spam messages by phone. They irritate
me so much.
Lh= 250 M3t2 AT HAIXIS ELUX| gfte™ £200|. IAE2 UE
R MBLHA 8.
B: | know. They are so annoying.
Ltz 2ok IRE2 HR WELIA &l
: Did you know that dogs wag their tails when they are excited?
4= 70| 0| LIH D59 WE|E EE= WS L/ULI?
B: That’s right. My dog Max does that when | come home from
school.
T2l 5E0F. Ltef 7 Max= Lh7t etuloi| M Tof 2 I A s,
: Did you watch the speech given by the new president? It was
great.
L= M CHEZol| 2l 01T M-S FH|? 37 B0,
B: Yes. Her speech about the country’s future was very touching.
2, =7te] of2fol| tigt J142| (A2 o ZSH0|U0].

YoziChs AE SUH? 2= 01 ALH

5 A: | heard that you slipped on the ice yesterday.

Lh= U7t ofF| 2301l M FoFCH e S2101.

B: Yeah. Falling in front of my classmates was so embarrassing.
SHOF. Lff B IS 20l HOlX|= A2 0 YEA2RI0].

Neal is satisfied with the quality of the new sofa he purchased.

| read an interesting article about the history of Afghanistan.

VO 00 N O

These amazing inventions caused the Industrial Revolution.

POINT3 &=

| = | =
|pe stes

13

1 While she was watching the news, Ms. Wilson drank the rest of the
coffee.
— Watching the news, Ms. Wilson drank the rest of the coffee.
FAES HHAM, Wilson M= LIHX| x| S OHCH
2 Because the lion ran slowly, it could not catch the antelope.
— Running slowly, the lion could not catch the antelope.

My grandparents were pleased when we visited them last weekend.

p.72
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3 When we finished the test, we handed it in to the teacher.
= Finishing the test, we handed it in to the teacher.
Age BHE o, R2l= 2RS MM HSFIct
4 Since she was nervous about the contest, Amy couldn’t sleep last
night.
- (Being) Nervous about the contest, Amy couldn’t sleep last night.
chloll Chall 70| =|01A, Amy= K|l ZE & 4= §UACH
5 As he didn’t know what to do, he stood still.
— Not knowing what to do, he stood still.
29I sliok EX| Z2tM, O Ttk MRUUCH

s — =

Hearing the fire alarm, | exited the building right away.

Not having an umbrella, Brian got wet in the rain.

6

7

8 Cooking breakfast, | listened to the news on the radio.

9 Carrying her bags, Ms. Benson got on the bus immediately.

10 Turning left on EIm Street, you'll see the bank on your right.

POINT4 =Al72e|cierst ojn| p.73

1 Getting lost, we checked the directions.
— After we got lost, we checked the directions.

T e ot 05, we ghook
22= 28 Y2 S0l WS oI,

2 Feeling tired, | went to bed early last night.

— Because | felt tired, | went to bed early last night.
Lh= D230 | 20, of3igol 22 Xt2] ZiCt.

3 Watching the soccer game, | cheered for my team.
— While | watched the soccer game, | cheered for my team.

L= &7 37IE B= 39, Lio| 22 2ls] SRFC,.

4 Slamming the door, he woke the sleeping baby.

- When he slammed the door, he woke the sleeping baby.
O 22 & ol gets ), Xt QU= OF7|E THRACH

5 Doing homework, they did not have time to watch TV.
— Since they were doing homework, they did not have time to watch

|

S2 SHE st AUY| WZoll, TVE & AlZHo| iRAC.

6 Looking out the window, Beth saw snow falling.

— As Beth looked out the window, she saw snow falling.
Beth= & 92 &t7| W20], =0| Li2|= HS R

7 Turning right, you'll see the children’s park.
- If you turn right, you’ll see the children’s park.
ook L7t QEZ o= =CHH, 0f2l0] ZYUE = A0IC).

==

8 Needing help with his homework, he called a friend.
— Since he needed help with his homework, he called a friend.
J= 19| o) ==20| ZR37| whZoll, Z710fA M L.

9 Waiting for the bus, | read a book about pirates.

— While | waited for the bus, | read a book about pirates.
Lh= HAE 7|CH2|HA, siEofl chet S ATt

POINTS

with + YA} + 2AL p. 74

Jane is running with her dog following her.

The dancer performed with the audience watching.

We built a sandcastle with the sun shining down on us.

Chad slept on the sofa with the TV turned on.

The farmer was able to relax with the crops harvested.

You should not drive with your legs crossed.

Have you ever tried to walk with your eyes closed?

We had to wait at the airport with our flight delayed.

VO 0 N OO0 U AN =

| ran into the house with my friend standing at the door.

10 The man read the letter with tears running down his face.

11 Sam sang a song loudly with his windows opened.

POINT6 SazpA7s P75

1 The car being broken, Mr. Brown took the subway to work today.

2 The police arriving at the house, the thieves ran away.

The sweater being made of wool, you can’t use a washing machine
to wash it.

4 Tomorrow being Saturday, | will play computer games until 11
o’clock.

Frankly speaking, | thought that book was very boring.
Generally speaking, children can learn everything easily.
Considering the high cost of this laptop, it should work better.

0w N o »n

Judging from Kelly’s reaction, she was satisfied with the birthday
present.

9 Strictly speaking, you can’t go in the pool without a swimming cap.
10 Speaking of Ms. Robertson, | heard she will be retiring soon.

7I§EI-II31E*-EI-II§=+$EI! p.76

01 The festival will be held at Hangang Park.

02 The conclusion of the book was disappointing.

03 Turning left, you can take the highway to Busan.

04 The ambulance drove with its siren ringing.

05 Not seeing the man, the bus driver passed by.

06 Owen drew a rabbit jumping on the moon.

07 Christine felt embarrassed when she fell. [When Christine fell, she
felt embarrassed.

08 Walking into the room, Kevin noticed the broken lamp.

09 It was a beautiful morning with the snow falling quietly.

10 Not having much time, | didn’t wash my hair.

11 My mom was standing at the door with her arms crossed.

12 Grandmother told us a touching story about love.

13 Not being ready for the test, Amy got an F on the midterm.

14 The boy saw the bird building a nest.

15 Climbing the mountain, Jerry collected colorful leaves.

16 The pilot landed the plane with his seatbelt fastened.

17 Nathan was annoyed by his sister singing in the room.

18 Not being interested in politics, he refused to become a president.

19 Kelly painted the picture hanging on the wall.

20 Watching a movie, Beth ate a bag of popcorn by herself.

21 Driving past the store, you'll see the restaurant.

22 Cleaning the bathroom, | found my ring.

23 Not feeling sleepy, Chloe watched TV.

24 | eaving for school, Liam closed the door.

25 Hearing the thunder, my dog started barking.

26 Going straight two blocks, you will reach the park.

27 Cooking steak, he adds a lot of pepper.
28 (Being) Scared, she cried like a baby.

29 Turning off the light, | went to the bed.
30 Playing the new video game, he felt sick.

31 surprised — surprising

32 freezing — frozen

33 Smiling not = Not smiling
34 driving — driven

35 Write = Writing

36 stealing — stolen
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37 boring ~ bored

38 ridden — riding

39 Didn’t > Not

40 worn — wearing

41 Entered — Entering

— painted

43 Listening to music, Joseph watered the plants.

42 paintin

44 Ben fell asleep with his mouth opened.

45 Everyone had a satisfying meal.

46 Sitting on the sofa, we talked about cats.

47 You shouldn’t leave with your shoes untied.

48 She felt excited about going camping.

01 (EE] =Hl= ¥ele thMo|22 £59| 90| LIEtLl= HRALS beSAL Fof|
22T} (> POINT 1)

02 (%) 30 the conclusion of the book2 ZIAS Yo7 |= FH|0| 1, HEA}
disappointing0| & 25 MH5I1 QIO Ho{ xt2|of|
disappointing2 £2C}. (» pPoINT 1)

03 [312) &S LIEtLl= 2AIL20|2 2 Turning leftS £2Ct (> PoINT 3, 4)

04 (3] ‘AtO|2I0] 22|i= AHZ'2h= 2|0|7t £[0{oF StE 2 “~FH MZ2'9| o|0|E
LIEFH= "with + WAL + 2ALE £2CL (> POINT 5)

05 (34 O|RE LIEt= BALE0|1, 2AILES| BHHE 2AF 20 notg 204
IH=O0Z Not seeing the mang £2C}. (» PoINT 3, 4)

06 [F1E] HIHEA jumpingS ®X|AFTL(on the moon)2t SHH| T+ 0|0 AA0{0F
S22 YA} a rabbit F|oflA HALE MBI o poinT )

07 (3% 0 Christine2 Z™E 7= FH|0|1, YA embarrassed?t =012
HZE Moisin 9looz Hoj Xj2|of embarrassedE £ALL, (> POINT 1)

08 [Fd] SAISES LIELE 2AM20|2 2 Walking into the roomS A1,
broken2 WAl lampZE 441512 2 the broken lampZ £2Ct.
(> POINT 1,3, 4)

09 (3] ‘=0] Z&35| Li2|= OFSCH2 OFEPO|2H= 2|O|7} E[ofoF st2 2
‘~SIHA'Q| O|0|E LIEHHE "with + HAL + ALE £LCh (> poiNT 5)

10 (#2) O|RE UEi= ZAFE0|1, 2AZ2| SYE2 A ¢l not2 20
BE=E 2 Not having much timeS £2Lt. (> POINT 3, 4)

11 GEE) Z2HEE 71 MZ'2t= o|0|7} £|0{of sHE 2~ XH 22| Q|0|E LIEI]=
Twith + HA + 2AFHE £2C} (> POINT 5)

12 (3] ‘ZSHQI 0|0F7|'2h= 20|17} |0{0f i, story7t ZEE YT |=
Zx|0|2 2 SXHEA} touchingS £2C}. (» poinT 2)

13 @) OIRES LIEIIE 2AIRR0|D, 2AIR22| SHH2 2AF 90 notg £0]
BE=S 2 Not being ready for the testS £2Ct. (» PoINT 3, 4)

14 () ‘5718 512 9l 2 M2k Slof7} E0j0f sint, 2512 910
Hhe birde}e| 2747t s=0|22 oiiH—v—)\} bU||d|ng° 2}
SR E2AL bqulngS SX0{ a nest2t 4| A0{0f 5t2Z HA} the bird

S of| £2CF. (> PoInNT 1)

15 [E) SAISES L

=]
(> POINT 3, 4)

EAtFE20|22 Climbing the mountaing £2Ct.

16 (3] AMHUES o HZ2'2H= 2|0(7} =[0{of st2 = ~5t XMZ'Q| o|0|E
LIEFHE "with + HAL + 2ALE 2L} > PoINT 5)

17 (&%) ‘NathanO| X=0| RtCH= 2|0|7f &|0{oF oHJ1 NathanO| Z™S ==
Ciefo|2 2 THEA annoyedE £Ct WES LI7| & A2l ‘Leelst
U= 120 01542 AL =eish=0| #*'of‘— HAL his sisterete| 2|7t

S0|2 2 Sx{EA} singingS £2Lt. (> POINT1,2)

18 (3H) OIRE LIEILIE 2AIR20|T, 2ARS0| £HHS 24} 2oj notS £0f
AH=O 2 Not being interested in politicsS £2C}. (» POINT 3, 4)

19 (EE] ‘ol Z2{QU= J2P0j2k= 2|0f7t =[0{0f 5ti, A ARQU="0] T
o|0|E LIEfL{OF 5t22 HAHEA hangingS £Ct SX}EAt hanging2
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My friend jogs every morning. He lives next door.

Lto| 217t O OFd X2 Sich 1= Yol Ak,

— My friend who]that] lives next door jogs every morning.
Q0| A= Lol Zl7 = Oi OFF =2 S it

Linda was the first person. She arrived at the meeting.

Linda= 3 H# AFZHO|RCE. J14= 3]2l0f ZEF3YCY.

— Linda was the first person that arrived at the meeting.
Linda:= 3/2|of] ==F5H A B ALZfo| AT

She has a cat. The cat’s fur is black.
T4 DY0|E 7HX|1 QIct O Yoo He AFMolCt.

— She has a cat whose fur is black.
Jl4&= 2ol ZAFAMol 1F0|Z 7kX| 1 QUL

| found the key. You lost it in the park.

Li= G415 JUTE HZ7H 3RS S2A0|A LOHFICE

— | found the key which[that] you lost in the park.
Lt= d|7H S0 2lo{tZl B2|E FQACH

There is a man and a dog. They are sitting under the tree.

SRt 747 QCH IS2 LIS Of2Hof SHOIRLCY.

— There is a man and a dog that are sitting under the tree.
LI ofzhol| SfotRl= EHAtet 747t AT

| don’t know the man wholthat] called me last night.

| like the house whose garden is full of rose trees.

Let’s buy the very hat that the clerk recommended.

The television which[that] is in the living room isn’t working.

POINT 2 ZMAIcHHA what p.83

What Jerry told the teacher was a lie.

Can you show me what you drew in the sketchbook?

That watch is what | was looking for.

I’ll check what | can do for you.

What she wanted for a birthday present was a new bike.

What you need is a new coat for the winter.

What we learned today was basic French expressions for beginners.

Santa Claus will know what you wish for Christmas.

What they cooked was set on the table.

10 | wanted to ask what | can do to help you.

11 Sam told Ricky what he should pack for the trip.

POINT3 zmicigatel AL 8 p.84

The flight was delayed. It annoyed passengers.

SZHO| X|A=(RACE DR AIRSS WBLIA 3L

- The flight was delayed, which annoyed passengers.
SZHO| X|A=Y=E, TRE ARES WBL FCh

a==

They went to the supermarket. It was full of people.

OS2 FHOBUO| ZUCH OX2 MRIEZE 715 Rt AULCE

— They went to the supermarket, which was full of people.
JS2 #fHOB0| Zt=0], OX2 M-SR 715 A JUACH

The gold medal was given to Steven. He was the fastest in the
competition.
SHE2 Steveno| 7| FOIFICE 1= 1 CHS|0| A TH ERITH
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— The gold medal was given to Steven, who was the fastest in the

competition.
22 Stevenof|A| FH{F =M, 2= 1 CHS[0fA 7HE R

He works at the post office. It was built in 1989.

T 2F|=20l|A st 3242 1989:H0)| X|O{F{Ct.

— He works at the post office, which was built in 1989.
J&= @A =F0lM Lsh=d|, 2242 1989'H0| X|o{7Ch

Mr. Erickson teaches social studies at our school. He majored in
journalism.
Erickson MME2 22| stulof|M ALS|E 7I2X|ACE = AESHS MIsHAlCh
— Mr. Erickson, who majored in journalism, teaches social studies at
our school.
Erickson MME2 AEstE MIsHEE=M|, 2| StuolM AFS|E JH=X|ACH

Tina met Ms. Wright, who is a famous pianist.

It started to rain in the afternoon, which caused the flood.

| watched a documentary, which lasted for 200 minutes.

| accidently touched a flower, which was a dandelion.

10 Everyone talked about Julia, who became student president.

6
7
8
9

POINT 4

TRIAL + BAICHE A

Who was the man? You were talking to him.

O "Hxbs £7%IL? W= O HAtet 0|0k | & sh= S0I1C

— Who was the man whom[that] you were talking to?[Who was the
man to whom you were talking?]
U7} 0lof7|E Sk BOIUE 1 HAks =7 ULI?

The chair is comfortable. | am sitting in it.
1 OfRb= HEFSICE L= a230f| SHOtRICE.
— The chair which[that] | am sitting in is comfortable.[The chair in

which | am sitting is comfortable.]
L7} StotRl= o|xh= HetsiCt.

Ron liked the people. He played soccer with them.

Ron2 1 ARISS ZORICL O 153 89 578 Yck

— Ron liked the people whom[that] he played soccer with.[Ron liked
the people with whom he played soccer.]
Ron2 17} 81| 578 Y& 1 ARISS Z0RCh

The umbrella was small. They stood under it.
O A2 TRt J52 1 ofzffofl MURALE.
— The umbrella which[that] they stood under was small.[The umbrella

under which they stood was small.]
50| ofzHofl MUAE 242 ZRATH

The photo is beautiful. Jane is looking at it.

T AFEI2 OFSEICH Jane2 S E1 QUL

— The photo which[that] Jane is looking at is beautiful.[The photo at
which Jane is looking is beautiful.]
JaneO| 11 Ql= T AHEI2 OFEHICH

The house in which they live has a yellow roof.

What is the sports team about which you care so much?

The ticket for which she will pay is $55.

What is the topic about which you are writing?

10 The song to which Tom is listening is my favorite.

POINTS

AL

p. 86

Can you explain the reason? You missed class today for that reason.
L OIRE HEE 2 ULI? = 25 1 082 -210] T
— Can you explain (the reason) why you missed class today?

e @5 G2t 2ol wE RS Has & JILI?

That’s the lake. | learned how to swim at the lake.
XZi0| O S40|Ct. Li7t X S50 M =P E ot= HS HiRICH
— That'’s the lake where | learned how to swim.

XZi0| L7t P ot= HE v 1 S0|Ch

| forgot the day. She was born on that day.
Lh= 3 &2 SIRi0 4= 1 & EfO{RtCE

20 Yo HHE =0iF= CHYst 8H5 XtE NS HackersBook.com

VO O N o u

— | forgot (the day) when she was born.
L= JL47} EfO{it T 22 QIQICH

Children need to learn the way. They should behave in public places

in that way.

Ofo|S2 WS ti@joF & LTt QICt OS2 O Yoz FZE A0 o

HIE7| g =sHoF St

— Children need to learn how[the way] they should behave in public
places.

Ol0|E2 SZHA0|M ofle] HtEA dSst= WS viioF & 27t AUt

Fall is the season when leaves change colors.

| know a place where we can study.

Do you know (the reason) why she quit the soccer team?

There is the café where Harry and Sally met.

Describe how you solved the problem.

10 He didn’t say (the reason) why he visited the bank.

O 00 N O U1 AN =

POINT 6 =gt

p. 87

You can have whatever you want.

I’ll eat whichever piece of cake you give me.

Whatever happens in the contest, we know we tried our best.

You can call me whenever you need me.

You should wear whichever shirt you like the most.

However hard the test may seem, | will not give up.

Whoever spilled the coffee must clean it up.

However cold it gets, | will still go jogging.
Wherever he travels, he makes new friends.

10 Her dog follows her wherever she goes.

2

I;Eﬂlgn&*-ﬂ-ﬂlﬂnrsm!

01 San Francisco is the city where | was born.

02 We must be careful about what we say.

03 The actor who took a picture with me is French.

04 We found the sock which you lost yesterday.

05 Whatever you do, always try to do your best.

06 Do you remember the restaurant where we met?

07 Can you show me what you have in your hand?

08 My friend who was riding the bicycle is an athlete.

09 The watch which you liked is sold out.

10 My dad bought me whatever | told him.

11 The children played with mud which[that] made their clothes dirty.

12 Emily is the very girl that is good at acting in our theater class.

13 The man made a bow! of salad which[that] he will eat a sandwich
with[made a bowl of salad with which he will eat a sandwich].

14 Joe changed (the time) when[at which] he will take a train.

15 The customers whose orders were missing complained about the
service.

16 The students asked (the reason) why[for which] the icebergs are
melting.

17 People talked about the festival which[that] will start on
Wednesday.

18 The boy and the horse that are sitting under the tree look tired.

19 The shirt which[that] Anna spilled vinegar on was my favorite[on
which Anna spilled vinegar was my favorite].

20 Do you remember the night when[on which] shooting stars fell?




21 A city whose population was 35,000 was destroyed by an
earthquake.

22 Brian didn't tell us (the reason) why[for which] he quit the baseball
team.

23 ltaly is the country where Sarah wanted to go.

24 Whoever wins the competition will get the prize money.
25 Did you hear what Eric did for Amy?
26 Mariah considered buying a dress whose color is purple.

27 It snowed last night, which made the road slippery.

28 Who was the stranger whom[that] you were talking to[was the
stranger to whom you were talking]?

29 The museum is (the place) where | met him for the first time.

30 Bring me whichever you like from those books.

31 Did you think about what the teacher suggested?

32 Aaron works in a building whose architect won an award.

33 George lied to his mom, which disappointed her.

34 The old man looked for a chair which[that] he could sit on[looked
for a chair on which he could sit].

35 that > what

36 that — which

37 whom — which[that

38 what > which[that] 2
39 where = which[that

40 why — that

41 That - What

42 that ~ which

43 which = whom(that

44 what — which[that] 52
45 where = which[that

46 whom — that

47 The way you cooked the pasta seemed easy.

the thing —~ 2|

12
=

the thing =

48 Here comes Matt, who lives next door.

49 Eugene explained how the books are edited.

50 Tim has a sister, who is a talented artist.

51 Alibrary is a place where students study.

52 Noon was the time when Josh had a sandwich.
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CHAPTER 08

S=Al

| POINT1 SAEEZ0|1= MEAL AlZ 0]R, 2, =2 p.94

Although Jerry felt sick, he went to the gym.

Because he promised, he bought me a new bicycle.

If you want more information, check the website.

Press the button until the green light turns on.

Unless you wear warm clothes, you will catch a cold.

Mr. Smith didn’t go to the hospital even though he had a headache.

Before you open the pot, you need to put on cooking gloves.

00 N 00 U1 A NN =

Since it was raining heavily, we decided to stay indoors.

POINT2 SAES0|n: M&AL 25, 23t p.95

1 The food was very delicious. He ordered more.
O 2A2 0i SIRARICE J= O FEFCH
— The food was so delicious that he ordered more.
O SA2 042 20| QoiM T o FEICL

2 He will save money. He can buy a smartphone.
1 £2 012 Z0[ch I ADIEES 4 4 QCh
— He will save money so that he can buy a smartphone.

Jd= A0EES & 4= A=E =2 OFZ2 Aot

3 The author wrote every night. She could finish her book.

AR o) ek U el 2t B 2 9ol

— The author wrote every night so that she could finish her book.
T K el Hg B 4 TS ofed B i

4 The room was very dark. He couldn’t see anything.
0 2 0§ ORI = OFRZUE 2 2= UUCE

— The room was so dark that he couldn’t see anything.
1 2 LR oSN 2 OFRAE 2 4 giRiC

5 | wear glasses. | can see things better.
Lic ordg ok Lis A28 o 2 2 4 9t

— | wear glasses so that | can see things better.
LI AIEE 0 & & = UEE oHdS 20t

| was so tired that | took a nap.

The joke was so funny that we laughed.

6

7

8 She drank coffee so that she could stay awake.

9 The shoes were so comfortable that he bought them.

10 George started a fire so that he could boil the water.

POINT3 #@AEsgo|n

HEAL |2 p. 96

rr

Do you know where Emily visited yesterday?

The problem is who will pay for the damage.

Where do you believe is the perfect place for the wedding?

| don’t know why my laptop became so slow.

| will show you where the market is.

What Regina gave me was candy.

The police officer asked who reported the crime.

Where | saw the ladybugs was on the window.

VO 0O N O 1AW=

Why do you think Amy will come home early?

10 The doctor will check how the patients are.

POINT 4 DAIES o|11= F2A}: that p.97

That she can speak five languages is impressive.

Everyone knows that Jisoo studies hard for tests.

It is true that Jenny will move to New York next month.

They said that they were excited to go on the trip.

g A NN =

The fact is that the dinosaurs became extinct because of a meteor
crash.

The point is that some diseases are related to food.

That we need more help is clear. [It is clear that we need more help.]

She predicts (that) the park will be crowded today.

VO 00 N o

| thought (that) Sam wanted to put sugar in his coffee.
10 The fact is that nobody knows the truth.

11 That he told everyone my secret annoyed me.[lt annoyed me that he
told everyone my secret.]

POINT5 QARE o|11= M2 AL if/whether p.98

| wonder if our team will win the game.

The hikers talked about whether it would rain.

They asked if | would join them for dinner.

Whether he believes the story is not important.

They argued about whether she had left the door open.

Let me know iffwhether] the computer works.

N O oA NN =

The gquestion is whether he was lying or not[whether or not he was
lying].

8 My concern is whether being rich makes people happier.

9 | don’t remember iffwhether] | turned off the lights.

10 The police were interested in whether he had seen anything.

POINT 6 Hmzal P99

1 Not only cows but also horses live[Horses as well as cows live] on
that farm.

He will move to either Italy or France for work.

You should not use your phone but listen to the lecture in class.

| think both strawberries and bananas are delicious.

She will drink either coffee or tea in the morning.

o U A NN

Neither the carrots nor the potatoes are used in my grandmother’s
soup recipe.

~N

You should turn not left but right at the intersection.
Both water and food are needed for survival.

Not only spring but also fall is[Fall as well as spring is] a beautiful
season.

10 He is not swimming in the water but lying on the sand.

JIE-EI-IIEEELEI-IIE atgall p. 100

01 We should check whether the answer is correct.

02 Can you guess what the world’s largest animal is?

03 Julie fell asleep after she came back from the swimming lesson.

04 Dad started the fire so that we could stay warm.

05 Ryan watered the plants although rain was expected.

06 Whether we will arrive on time depends on the traffic.

07 Why people left the town is still unknown.
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08 The chef prepared the sauce while the pasta was boiling.

09 Laura took out a little chair so that Benjamin could sit down.

10 Even though Mina and Sohee are sisters, they don’t look alike.

11 I'd like to know why we can’t cross the street here.

12 Aaron asked me iffwhether] the Eiffel Tower is in London.

13 Exercising influences not only physical health but also mental
health[mental health as well as physical health].

14 I’'m not sure who brought these books.

15 Can you explain how we can get to the theater?

16 Do you remember iffwhether] you locked the safe?

17 Do you understand why Sarah is angry with me?

18 The patient wondered iffwhether] doctors could remove the scar.

19 Daegu is known for not only its hot weather but also its delicious
food]its delicious food as well as its hot weather].

20 Should we check who is absent from class?

21 Will you tell me where you are?
22 We don’t know if[whether] Erica needs a new wallet.

23 Paul kept waving until[till] the train disappeared.

24 Jenny washed the dishes so that she could use them.

25 My dog is so heavy that it can’t run fast.

26 Everyone agrees that Harry Potter is the best novel series.

27 Both men and women have equal rights.
28 Neither Jack nor Fred did their homework.
29 | can wait until[till] you are ready.

30 The students took notes so that they could study them later.

31 The performance was so long that | felt bored.

32 Everybody knows that Rachel is a good friend.

33 Both plants and animals require much care.

34 Kelly either forgot to come or decided not to come.

35 Monkeys eat insects as well as bananas.

36 | wonder if they painted the graffiti on the wall.
37 The boy talked on the phone while he watched TV.
38 The weather in Korea was so cold last year that the river froze.

39 The band played not only classical music but also jazz music.

40 He couldn’t decide whether he should wear a tie.

41 Although he was poor, he wasn’t sad.

42 | prepared the ingredients in advance so that | could save time.
43 A hot bath is what | need.
44 Where do you think you will stay in Germany?

45 |t is important that we don’t make the same mistakes.

46 Do you remember what the thief was wearing?

47 What do you guess the weather will be like tomorrow?

48 | wonder who cleaned the window.

49 When do you believe you can visit me this week?

50 He hoped that his sister would get well soon.

51 Will you tell us how we can help you?

52 What do you suppose the best way to start a conversation is?
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CHAPTER 09

6
7
8
9

POINT1 kg aA

p. 106

As it isn’t snowing, we can’t make a snowman.

=0| 211 RUX| 27| 20|, R2|= =AIRE TS = QiCh

- If it were snowing, we could make a snowman.
Dtob =0] 11 QICHH R2|= =AIRS THE 4= US IOl

As it isn’t my laptop, | can’t lend it to you.
J%2 W =ES0| of|7| hZofl, Lh= 2ZS Lol|A| L2{E 2= gl
- If it were my laptop, | could lend it to you.

2ok 710 L .LESO|2HH LHZH IS HolAH 2 E 4= US Hig.

As | don’t have a driver’s license, | won’t drive you home.
Lte %57} gi7| W0, L= HE Tofl B2t FX| g8 Zo|ch
= If | had a driver’s license, | would drive you home.

Tok LT 2 HS{7F QICHA Lh7F 4 E FEof Hi2{CH = i

As I’'m not in Spain, | can’t meet you.
Li7F Amfelof K| 247 Wi=ofl, L= HE 2R 4= glct
- If | were in Spain, | could meet you.

otok Li7H Amfolof RUCHH L= oig 4= QLS Hi.

As she doesn’t have enough money, she won’t buy the purse.
T &8 =0] gi7| W20, 4= 2 XIS AX| 942 Zo|ch
- If she had enough money, she would buy the purse.

Trof 147t 26t =0| QUCHH, Jl4= 1 XS & i,

If it were summer, we could go swimming.

If John played the violin, he could join the orchestra.

If | spoke French, | would understand her.

If there were a line, we would have to wait.

10 If it were his birthday, he would get a present.

POINT 2 by sz

p. 107

As the cook wasn'’t careful, he cut his finger with a knife.
QE|AFE ZYSHR| gi47| W20l 2= Zo 29| £712tS HIACt

y —= =2

— If the cook had been careful, he wouldn’t have cut his finger with a

knife.
OhoF QAT ZAAIEEIHE = 10| &2 Zof| H|0|X| 2kS HIC).

As the police didn’t find him, the criminal got away.
ZAEES0| I5 3X| 47| wh2oll, 1 HE[Xh= =YL
- If the police had found him, the criminal wouldn’t have gotten

away.
Blof 20| 18 AISUCI 1 HAIRKS EYIIK| YUS €.

As she didn’t win the contest, she went home without a prize.
Jid= tis|oflA 07| K] &7 wh2oll, J1d4+= 4 gio] Tof Zich
- If she had won the contest, she wouldn’t have gone home without

a prize.
gtk 147} CHE|ol M O|ZiCi2ted 4= Af 10| Fof 74x| R4S HiE|.

As Mark was late to the meeting, he couldn’t watch the presentation.

Mark= g/2|0f =247| Wh2oll, 2= UEE 2 -+ Ut

- If Mark hadn’t been late to the meeting, he could have watched
the presentation.

B1f Markot 1910] S| Q9{CiEtH I WES &2 4 9!S Hol.

As | didn’t bring an umbrella, | got wet on my way here.
Lte A4S 7| ik 20, 07| 2 & Zoi| UL
- If | had brought an umbrella, | wouldn’t have gotten wet on my

way here.
ook L7t 24t 7EMLIHEMH Lz 097] 2= Zof| K| aits Hin.

If | had been hungry, | would have eaten the sandwich.

If the store had been open, we could have bought some fruit.

26 Yo 22 =0iF = ChYst 845 XI= MS HackersBook.com

8 |If Lisa had had a cell phone, she could have called us.
9 If | had studied harder, | wouldn’t have failed the test.
10 If we hadn’t been busy, we would have attended the party.

11 If | hadn’t spent all my money, | could have bought the skirt.

POINT 3 | wish 7p&H

1 I'msorry that my sister wasn’t at the concert with me.
Lto| o{S4o] Liet Bl S¢iol| 7kx| RalilA fZ0IC.

— | wish my sister had been at the concert with me.
Lto| 015 A0| Liet 8hA| Z¢10f| ZiCtH £ Hid|.

2 I’'m sorry that you didn’t tell me the truth.
U7t LHA| AFE S 2HSHR] 842 20| |Z0IC.
— | wish you had told me the truth.
Y7k i Atg 2siciate Eg Hl.

3 I'msorry that the bus won’t arrive soon.
A2 TR ok 0|2t RZoICh
- | wish the bus would arrive soon.
AT} 2 SASICHE 2w,

4 I'm sorry that my friends weren’t nicer to one another.
Wi ZI7+S0] ME0|7| O ZI=SHK| 250tM RZOICE.
- | wish my friends had been nicer to one another.
U E7S0| Mo of ZEFC2IH F2 Hig|.
5 I'msorry that | don’t speak Spanish.
LH7F AR|QIOIE SHX| 920kM |ZOICE.

— | wish | spoke Spanish.
LH7t AH|QIO|E SHCHH Z2 Hi.

| wish | were better at math.
| wish the bus had arrived on time.

| wish | had worn comfortable clothes today.

O 00 N o

| wish we went to the beach now.

10 | wish people could talk to animals.

POINT4 asif 71

1 Infact, George didn’t get an A on his math test.
AL, Georgel= 10| 481 AIBI0IA AS BHX| 2BCL
— George talks as if he had gotten an A on his math test.
Georges 17} OF| 7t 4-3F AIROIM AS 2 2ix2] it

2 In fact, Lisa doesn’t live in England.
A4, Lisa= Q¥=0f| &K =Lt
- Lisa speaks as if she lived in England.
Lisa= OFX| J147F G=20f| A= ZAXE 2L

3 Infact, | wasn’t sick.
AMY, LH= OFZEX| QFQITH
- | look as if | had been sick.
Lt= OFX| OFE M3 EQICH

4 In fact, he is not a professional author.
A, T R0l Z717} ofLCt,

[y e}

— He writes as if he were a professional author.
O J7t MEXQI X710 ZAXF £20

5 In fact, Kate broke the vase.
AHY, Kate7} ZHE 2L}
— Kate acts as if she hadn’t broken the vase.
Katei= OFX| JL47F 2 S K| 22 JME HSEHL

-y d

The team celebrates as if they won the tournament.

Ron shops as if he had a million dollars.

She swims as if there were a shark in the water.

VO ® N o

| sleep as if | had been awake for an entire week.

10 He plays tennis as if he had practiced for years.

p.108
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POINT5 without 7}t p. 110

Without your help, | would have been confused.

Without Jerry’s advice, Kate would have registered for the wrong class.

Without planes, journeys would take longer.

Without a coat, | would be cold.

Without a cup of coffee, he might be sleepy.

Without a bicycle, | would have walked to the park.

Without a map, we would ask for directions.

Without soap, my hands would have been dirty.

Without medicine, people might get sick more easily.

10 Without his care, the plant would have died within a week.

11 Without the dog, the police wouldn’t have found the girl.

NV 0 N OO0 U1 AN =

POINT 6

It’s time 7} p. 1M

It’s time you cleaned your room.

It’s time he rested, since he worked for hours.
It’s time you made up your mind.

It’s time you went to the dentist.

It’s time we visited our grandparents.

It’s time | threw out these old shoes.

It's time we spoke about your future.
It’s time she learned another language.

It's time you got new glasses.

10 It's time | introduced you to my friends.

11 It’s time we tried that restaurant.

12 It’s time | went on a vacation.

P.Ex-llgurnen p. 112

I158Iz2

01 If | had a bag, | would take those books home.

02 |f Anna had listened to the news, she could have prepared for the
storm.

03 | wish you were a lawyer for that client.

04 That man talks as if he knew my father well.

05 It’s time we did our homework.

06 |f Jared were here, he could open the jar now.

07 If you had dried your clothes, you wouldn’t have dripped water
on the floor.

08 | wish | got a new computer for Christmas.

09 Our dog always barks as if it saw a ghost in the garden.

10 It’s time you cleaned your desk.

11 If | had had enough money, | would have bought that house.

12 | wish we had been best friends before.

13 The bank looks as if it were closed.

14 Without air, we couldn’t live on the earth.

15 They talk as if they had watched the movie last week.

16 If the weather were not great, | wouldn’t stay outside.

17 If we had cheered for the team, they would have been confident.

18 | wish | had traveled around the world.

19 James pretends as if he were a king.

20 Without the sofa, we would have to sit on the floor.

21 Helena acts as if she had been a ballerina when she was little.

22 |f he had a reservation, he could eat in the restaurant.

23 If you had come home by 10 PM., Mom wouldn’t have been
angry.
24 | wish | knew how to make a cake.

25 If Tom were taller, he might join the basketball team.

26 The excuse sounds as if it were a lie.

27 Without the key, we would have been locked in the room.

28 If the apple had not fallen from the tree, Newton might not have
discovered gravity.
29 | wish they would stop jumping upstairs.

30 If it snowed a lot, the children could make a huge snowman.

31 The cat seems as if it were talking.

32 Without the helicopter, bringing medicine here would have been
impossible.
33 is— were

34 sends — sent

35 brought = had brought
36 am — were

37 didn’t have = hadn’t had
38 will > would

39 cooks — cooked

40 woke = had woken
41 will > would
42 studied — had studied

43 A: What would you do if you could spend a day with your favorite
actor?
B: If | could spend a day with my favorite actor, | would have
dinner with him.

44 A: If you could have any special talent, what would it be?
B: | wish | could play the piano like Mozart.

45 A: My shoes smell so bad.
B: It’s time you washed your shoes.

46 A: What would you do if a time machine were invented?
B: If a time machine were invented, | would visit myself 30
years in the future.

47 A: Mom, what would you like me to do?

B: | wish you would get a haircut first.

48 A: We haven'’t called our grandparents for a while.

B: | know. It’s time we called our grandparents.

49 Teacher: If | were you, | would go to bed early.

50 Dad: If | were you, | would apologize to her first.
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CHAPTER 10

Hlu+=

p. 118

|POINT1 Ha Hlnet Hg 2 28

Wesley talks as fast as a news anchor.

That tree is twice as tall as this treg[is twice taller than this tree].

The cake wasn’t as[so] delicious as the cookie.

Rick’s smartphone is as new as mine.
My painting isn’t as[so] beautiful as yours.

| don’t sleep as much as my brother.

N O 0 A NN =

Julie sings ten times as well as Michael[sings ten times better than
Michael].

8 Beth tried to stay as calm as possible[she could] during the
earthquake.

9 He smiled as naturally as possible[he could].

10 The house is three times as large as the apartment]is three times
larger than the apartment].

POINT2 H|23 HlwetH|wg 2 23

p. 119

1 The balloon went up higher and higher in the sky.

2 The sooner you leave, the earlier you will arrive at Busan.

3 Light travels much faster than sound.

4 Mobile technology is becoming more and more advanced.

5 My headache is getting worse and worse.

6 The smaller the car is, the easier it is to drive around in the city.

7 Because Lisa studied hard, her Spanish got better and better.

8 The pumpkin was even sweeter than the watermelon.

9 The more money we earn, the more responsibility we have.
POINT3 A3 H|me} F|ALZ 2tz 23 p.120

1 This is the most expensive train ticket we have bought.

2 Mr. Hob is one of the best teachers in our school.

3 This pizza is the most delicious dish of all menus.

4 This was the scariest movie that he has ever seen.

5 Michelangelo is one of the most famous artists in history.

6 Kelly is one of the tallest girls in her class.

7 This necklace is the most valuable jewelry (that) | have ever bought.

8 Baseball is the most exciting sport of all.

9 The blue whale is the largest of the animals.

10 Sokcho has one of the most beautiful beaches in Korea.

POINT4 &zatHlag

p. 121

1 | am the youngest person in my family.
Lh= 22| 715 & 71 ofzl Argtolct.
= No other person is younger than me in my family.
S| 7% & CHE ot AlZI: LHEC} Of2[X] 94T

2 The Internet is the most useful invention.
olE{ 7 RE3t wHZo|ct,

= The Internet is more useful than any other invention.
QIE{LI2 CHE o WHELCH | RESICH
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Breakfast is the most important meal of the day.

O AAL= OFF B 71 528t AALOIC.

= No other meal of the day is as important as breakfast.
St 3 CI2 0Ot AALE OFEAARE S Q5HK| Q4L

December is the coldest month of the year.

1282 3 8 & 7hg £ olct.

= December is colder than any other month of the year.
122 st &lf & CH2 ofH 2SR &Ct

No other place in school is quieter than a library.

Hunter was slower than any other runner in the marathon.

No other animal in the sea is as smart as the octopus.

This year’s storm was stronger than any other storm in the past.

IIZE %22 E T Xz mg=n
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p. 122

01 The green jacket doesn't fit as well as the blue jacket.

02 This pen is twice as long as that pencil.

03 | stretched the rubber as far as possible.

04 Snowboarding is much more dangerous than skiing.

05 The more you read, the more knowledge you will gain.

06 Basketball is not as exciting as volleyball to me.

07 This bag is ten times as heavy as my bag.

08 Please explain the rules as clearly as possible.

09 Today’s weather is even warmer than yesterday’s.

10 The older we become, the more wrinkles we get.

11 The sofa was much[even/far/a lot] more comfortable than the
chair.

12 That company makes the fanciest watch in Europe.

13 The richer Mr. Vans became, the greedier he got.

14 Jordan spoke twice as loud as we spoke[spoke twice louder than

we spokel].

15 | passed one of the most difficult tests this year.

16 | felt more and more relaxed while | was taking a bath.

17 The chicken noodle was much[even/far/a lot] spicier than the
beef noodle.

18 The Mariana Trench is the deepest point in the ocean.

19 The more you eat, the fuller you will become.

20 Hawaii is 15 times as large as Jejudo[is 15 times larger than
Jejudo].

21 The durian is one of the smelliest fruits in the world.

22 The man got closer and closer to the door.
23 Fleas can jump 350 times as high as their body length.
24 \We tried to decorate the house as beautifully as possible.

25 The longer | boiled the meat, the softer it became.

26 No other form of transportation is as convenient as the subway.

27 The ostrich is larger than any other bird in the world.

28 Eric practiced the violin ten times as much as Amy.

29 You need to handle those diamonds as carefully as you can.

30 The more rapidly the temperature rose, the faster the ice melted.

31 No other way to learn a new language is better than reading.

32 This is fluffier than any other cushion | have ever bought.

33 easiest — easier

34 newer —> new
35 hard = harder
36 greatest — the greatest

37 the largest — larger
38 friend — friends

30 Yo| H3S =0{F= CHYst 5t5 A= Mld HackersBook.com

39 most > more

40 brighter — bright
41 delicious = more delicious

42 Best — The best
43 the windiest = windier

44 country = countries

45 Andrew is not as old as Jackson, but he is older than Thomas.

46 Jackson is as heavy as Andrew, and Thomas is the lightest of the
three.

47 A melon is as expensive as a peach, but it is more expensive
than grapes.

48 Grapes are not as fresh as the other two, and a melon is fresher

than any other fruit.

49 Amy did much better than Sam on the test.

50 This ruler is twice as long as that one.

51 Today is even colder than yesterday.

52 The glacier became three times smaller than it was 100 years
ago.
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CHAPTER 11

212t ek

| POINT1 £ x| p.128

Someone in the kitchen is cooking delicious food.

Both almonds and walnuts were put in the dough.

Modern physics is based on theories.

Finding the lost puzzle piece was difficult.

(S I N S

Two hours is too short to discuss the matter.
T A2 EXIE =2lst7|of L HCt

6 The number of homeless people is rapidly increasing.
=X 27t 25| B7tst1 QL.

7 The United States of America is composed of 50 states.
0|22 50742| =2 0|R0{X QACt.

8 The rich pay more tax than the poor.
SR8 ARISS JiChst AISECH T B2 i3S it

9 Every airport has its own police department.
2E 2 AAEel ZE 247t QUCH

POINT 2

AlH| 2Lx| p.129

1 | am surprised that you didn’t notice my new sneakers.
Lh= U7 LEe| A 2S3HE LOHiX| REIE Ziol| =3AC
- | was surprised that you hadn’t noticed my new sneakers.
L= HI7F Lref M 258HE LOrRHA] REUAE 2ol s3AAUCH
2 We agree that it will be nice to visit France.
Rz ZYAE WEsh= 20| £2 A0t S

— We agreed that it would be nice to visit France.
Q2| ZAS w2ste 20| £ Zol2D SACL

3 The children believe that their parents know everything.
Ol0|S2 O829| B2Vt BE S Qitt 2l=C}.

- The children believed that their parents knew everything.
Of0|E2 O59| BRIt 2= AS Tt UCH

4 My sister asks if | touched her belongings.
Lto| O3S M2 L7t a1 AXIES HRE=R 2=C

S o = CMT
— My sister asked if | had touched her belongings.
Lto] OiZ e Li7L J149] AX|ES PHRA=X] SUCH

SO

5 Sarah wonders why Nate didn’t come to school.
Sarah= Nate7} &10] € QK| 4h=X| Z23ICt.
— Sarah wondered why Nate hadn’t come to school.
Sarahi= Nate7} &f110f| off 2X| AUAUEX SSHCE

Harry argues that the treasure map is real.

6

7 Molly thought that Koreans would speak English.

8 | asked why she wouldn't tell the truth.

9 The customer claimed that he had found a caterpillar in his salad.

10 He says that his dream was to invent a time machine.

POINT 3 Al 2x12] of|2| p.130
1 The patient told the doctor that he jogs every morning.
2 He told us that the early bird catches the worm.
3 The police said that Namsan Tower is located in Yongsangu.
4 The teacher taught us that Abraham Lincoln became the president in

1861.
It is known that Jane Austen wrote Pride and Prejudice in 1813.

w

6 Jerry didn’t know that water freezes at 0°C.

32 Yo{ M2 =0iF= CiYst st5 XI= MS HackersBook.com

7 Everyone thinks that Thomas Edison invented the light bulb.

8 My grandmother said that good medicine tastes bitter.

9 | heard that Benjamin walks his dog twice a day.

10 Galileo argued that Earth goes around the Sun.

POINT4 mr2e| s Hat p.131

1 Jason said, “l invited Sam to my birthday party yesterday.”
Jason “Lt= OfF| L MULE[0f] SamE Z=CH3H0f. 2t LK
— Jason said (that) he had invited Sam to his birthday party the
previous day|the day before].
Jason2 17t Fe 0| HUTE[0l| SamS ZACHZICHD EHCE

2 The woman said to the police officer, “A thief stole my purse 30
minutes ago.”
0 0{xh= ZEE0IA “=50| 302 Hof| M| X|LS SR 20 L3HC)
— The woman told the police officer (that) a thief had stolen her
purse 30 minutes before.
11 0fxb= ZEEOIA =50| 30= Tofl 29| X|Zfs SHMCt 3T

3 The girl said, “It is going to snow tomorrow.”
2HE ‘LY =0| & 7ok 2t Z3iCH
— The girl said (that) it was going to snow the next[following] day.
A& ICKS ¢ £0| 2 A2t it

4 The engineer said to me, “We can’t fix your car now.”
2|32 LIofA “Mal= Xz galel XS 1E 4 o1 2t HEich
— The engineer told me (that) they couldn’t fix my car then[at that

time].

2|32 U0l OS2 30 Lto| XS 1 E 4= YUUCtD 2L

5 Dad said to me, “You should clean your room today.”
Oftth= Lo “H= @5 Lo &S X|9/0f sif. "2t 2t
— Dad told me (that) | should clean my room that day.
Oftth= Lo LHZ 2 L &2 X|9{OF STt AL

6 Matt said to Nancy, “I prefer my coffee black.”
Matt2 Nancyoll| “Li= W 7u|E Ee =2 MSal. "2t Z3iC
— Matt told Nancy (that) he preferred his coffee black.
Matt2 NancyOi|7{| 27} 19| AL E S 2 NSO Z3MCE

7 The boy said to his mom, “I want to drink some water.”
2E2 T9| Aotol|A| “Li= 22 2AZHORA| L 40{2.7 211 Z3HCE
— The boy told his mom (that) he wanted to drink some water.
AE2 0| Antof|A 27t 22 7 OFA| D HUCHD BFACE

8 Ms. Brown said, “I don’t like playing badminton.”
Brown M= “Lt= BIERIE X|i= WS EO0ISHA| L0} 2t HECY.

— Ms. Brown said (that) she didn’t like playing badminton.
Brown A= JL47} HYETIE! X|= S ZOISHX| LUATIL LFHCE,

S5

9 The man said to the chef, “The steak was very delicious.”
A= QE|AIA| “2 AH|O| 3= 04 SEUACE" 1T BEFACH

— The man told the chef (that) the steak had been very delicious.
EXt= Q2|Af|7| 2 AH|0|27} 01 SEAUUTHT BFACE

10 The clerk said to the customers, “You can get discounts on fruits
today.”
HY2 &S0 25 LS ZILES £ loje. "2t YIICH

— The clerk told the customers (that) they could get discounts on

fruits that day.
M2 &HS0AH 252 O 1S Folghs 4 QICHn LI
POINT5 <l2=20o| 51 M3t p.132

1 The doctor said to me, “Where does it hurt?”
O|Ab= LIol|7| “O{C|7} OFZA|R?"2t 1 3Lt
— The doctor asked me where it hurt.
O|At= LIoj|A| OfC|7} OFtt=X| ERUC.
2 | said to Mom, “How can | bake a carrot cake?”
Lte A0tol7| ‘22 70|35 O1EA| 718 & ULIR?"2tn LCH
— | asked Mom how | could bake a carrot cake.
Lte A0tofA| L7t 22 70|28 €A 712 = JA=X| SUCH

3 George said to her, “Do you want to go to a movie with me?”




George= JILHOA| “Ltet &4 st E2{ 7t AlL|?°2t H3ict
— George asked her if she wanted to go to a movie with him.
George= JL{0||7| T2t &7 HsHe Haf 7t AR EQ1Ct

The teacher said to him, “Will you explain how you solved the
problem?”
MY J0fA “U7L o] 2HIE ofEH EU=X| dHsH L2t TCH
— The teacher asked him if he would explain how he solved the
problem.
MY T0A 37t oEAH 1 2HIE EU=X Y FH=X 2/t

The driver said to me, “Where are you heading to?”

RFSE LIoA “OfC|2 SetALER?7 2t LEiCt

— The driver asked me where | was heading to.
28 LIofIA| L7t 0T 2 &5k S0|U=X] UL

Serena said to him, “Are you going to call me tomorrow?”

Serena= 10{17{| ‘L= LAY Lo|IA| Tskgt L2 2t 23CH

— Serena asked him if he was going to call her the next day.
Serena= 10{|7| 27+ OCHS & JH0|A M&He 74X 2L

The scientist said to the audience, “Has anyone heard of dark
matter?”
petAh= 20|, ‘A4S SZoll Csl S0{E Al 20| ULt 2t HFHC.
— The scientist asked the audience if anyone had heard of dark
matter.
fetAh= 20| LS SZ0N| CHoll S01=2 ALRH0| UAEX| SRUCL

Lisa said, “Who took my cup?”

Lisa= “F7F L &2 7FMZ{L| 2?72t 2Eich

— Lisa asked who had taken her cup.
Lisas= 57t J49| g 7kMZHeX| EQ1Ct

| said to Julie, “How long do | have to wait?”
Lt= Julieof|A| “Li= 20kt 22f 7|CH2{0F S| 272t 1 2FiCH
— | asked Julie how long | had to wait.

L= Juliedf|A| L7} ZotLt @2 7|C2{0f J=X] S QAL

10 The police officer said to the man, “Why did you break into the

1

store?”

JEEES T R “ff T 7HA(of ELstASLII? Rt ZRCH

— The police officer asked the man why he had broken into the
store.
AEEE2 T HR0|A 27t el O TiA|of URR=X] EUCH

Jake said to Dad, “Was it cold outside yesterday?”

Jake= Oftitol|7| “O{K| 50| FRILI? 2t L3HCE.

— Jake asked Dad if it had been cold outside the previous day.
Jake= Oftitof| | 1 M 50| F2=X| SQ{CH

POINT 6 w=iRe|si Hst

p. 133

The teacher said to us, “Hand in your homework now.”

MYEH2 2207 “XIZ SHE H|Sal. 2t Z3HC

— The teacher told us to hand in our homework then[at that time].
MAE2 [0 2 =HE HMEsi2tn Rt

The doctor said to me, “Don’t eat too much sugar.”
O|Ab= LiolA| “MEE S Bo| HX| OiN|2.72t 1 2HEICH
— The doctor ordered me not to eat too much sugar.

OfAt= LiolIA| HEE LR o] MX| & S PHAC

Natalie said to me, “Close the window.”

Natalie= Lof|A| “&2S EH0L 2t L3I}

— Natalie told me to close the window.
Natalie= Loj|7| 2H28 Brotn Lhlict

The coach said to Kelly, “Practice harder to win the competition.”
TR|= Kellyol| | “Ciz]oi| A 0]717] 2fsh o Sals| AEal2t. 2t 2}

— The coach advised Kelly to practice harder to win the competition.

J= Lo|IA| RHE Zalst2ta ZAHFCH
The security guard said to Jane, “Stay in line.”
HHQRI2 JanedllZ| “E2 MAMIL."2t TFICH
— The security guard told Jane to stay in line.
HHQ2I2 Janeo|Hl &2 Mzt Z3iCt.
My mother said to me, “Keep a record of your spending.”
Lto| YHOk= Ltoi|A| “42| X|ES 7|=st2t. 2t ZFch
— My mother advised me to keep a record of my spending.
Lto| Y0k= Lioi|A| Li2| XI&2 7|F5t2ta ZHFCE

The judge said to the man, “Be quiet in the courtroom.”

EAbE O ERI0|A “HH|M =83 otMl2."2tn TEHCE

— The judge ordered the man to be quiet in the courtroom.
EAbs O ERIol|A HHo|M =83 ot Y-S

10 Veronica said to her parents, “Don’t worry about me.”

Veronica= 142 2EEHAH “ME AFSHA| OpM|Q." 2t Z3HCE.
— Veronica told her parents not to worry about her.
Veronica= 1149 2L JHE ZAFsHX| 22t 2Ict

11 The commander said to the soldiers, “Don’t leave your positions

today.”
X|g22 2AS0A ‘s H3]2| A12|E MLtK| 2ozt 2t ZRHCE
— The commander ordered the soldiers not to leave their positions

that day.
X|g22 Z2AS0A 2 2E9| A2|E mLtK| Latn HHAMCH

7I§-EI'II§1*£-EI'IIE=+$EI!

p. 134

TX|i= Kellyofl 7| Chloll A 0]7|7] @la & Bals| A&stata ZAHFCH
She said to the students, “Don’t be afraid to ask questions.”
T S0l “EEsts A RMISH] 2ot} 2t 34Ct.

— She told the students not to be afraid to ask questions.

T S0l 22sh=s A2 FMLISHA| Zetn L3t

He said to me, “Watch out for the car.”
T LIoA “RHE Zedsl."2tn it

— He advised me to watch out for the car.

01 Henry heard (that) the store had been closed the previous week.

02 We learned (that) sunlight is used to make food for plants.

03 Mary told me (that) she studies English every day.

04 Andrew thinks (that) it is better to stay indoors during the storm.

05 My grandmother said (that) a bad worker blames his tools.

06 Jamie saw (that) the tree had fallen the day before.

07 The teacher explained (that) supply and demand controls the
market.

08 | found out (that) Jack reads the newspaper every morning.

09 Scrooge didn’t understand (that) money wasn’t everything.

10 | knew (that) water consists of hydrogen and oxygen.

11 Dan ordered Ben to wash his hands to get ready for dinner then.

12 Andy told his mother that he wanted to have a sandwich the next
day.
13 | asked Jake who he was waiting there for.

14 Tim asked Lisa iffwhether] she would go to the dance with him.

15 Laura told her friend that she had won the singing contest the
previous year.

16 Our math teacher ordered us to solve those problems in ten
minutes from then.

17 The dentist told Ms. Clark that she needed to visit them the
following week.

18 The police asked the man who he had talked on the phone with
the previous night.

19 The vet asked me if[whether] my dog had eaten a lot of sweet
potatoes the day before.

20 She told the customer that she was sorry but they didn’t have
any chicken that day.
21 Every member of the class is studying hard for the test.

22 Both speed and strength are important in soccer.

23 A number of deer are running on the field.

24 Economics is a mandatory course in high school.

25 |t is written in the book that Neil Armstrong landed on the moon
in 1969.

26 Each ticket admits one adult, so we bought three.
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27 Both my dad and mom work at the national bank.

28 The number of accidents on the crossroad is increasing.

29 The Philippines is a multiracial nation with various cultures.

30 | know that George Washington was the first president of
America.

31 The weatherman says that it will snow tonight.

32 The teacher told us that she would give a quiz next week.

33 Sarah said that she would take care of my cat the next day.

34 | think that air pollution is a huge problem.

35 My dad promised that he would take me to the theme park.
36 He said that he had wanted to watch the movie the day before.
37 She asked if | had prepared dinner that day.

38 The man told us that we couldn’t take the highway there.

39 The teacher asked if | had handed in the homework.

40 Scott told them that he hadn’t seen any strangers the day before.
41 He told me that he didn’t understand my concerns.

42 Ryan asked Julia iffwhether] she had taken the magazine.

43 The teacher told us that we could work with our partner that day.

44 My grandmother asked me iffwhether] | would walk with her.
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POINT1

X 1tis ~ that 2= 12

The president gave a speech at the museum last month.
CHS™2 K|l BfS2tollM 1M S ST

- |t was at the museum that the president gave a speech last month.

p. 140
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Paul visited the hospital this morning.

Paul2 @& OFRo| el wRsirt,

— It was Paul that visited the hospital this morning.
95 OZj0l el WEsH AIZS B2 Paulo|ct.

Henry took a walk in the park earlier today.

Henry= @5 2% ZR0A AF4S SHCH

- |t was earlier today that Henry took a walk in the park.
HenryZt Z2l0l|M LS 6t wi= HI2 25 22 O0|C.

Those students clean the beach every weekend.

O sHME2 FU0ICH s S FHASCh

— |t is the beach that those students clean every weekend.
1 sHES0| FE0iCt HAsh= 22 HEE si#Ho|CH

= AT

| called my grandmother from home this afternoon.

L= @& %0 TollM Lte| Lo MStE 3HCF.

- [t was my grandmother that | called from home this afternoon.
U7t 25 220 TollM M3IS st AIRE2 HiZ Lie| So{L|RACt

It was the suspect that the police caught at the mall yesterday.

It is every morning that she eats an apple at home.

It is a new computer that | want for Christmas.

It was Mr. Anderson that organized the event last year.

10 ltis in ltaly that we will eat pasta next week.

O 0 N o

POINT 2

UE: EME 2Z5HE do

She believes Theo stole her wallet.

Jl4& Theo?} 142 X| 28 SXCHD Yi=Ch

— She does believe Theo stole her wallet.
Jl4& Theo?t J142| X|ZhE SHICtD T L=Ct

Tabby knows a lot of people.
Tabby= B2 ARRISS otct

— Tabby does know a lot of people.

Tabby= B2 A2 ES T QI

Pets require much attention and care.

HIHSE2 2 2l 558 QR i

— Pets do require much attention and care.
HEE2 B2 el S22 Y UeR St

Dad wears glasses when he drives.

Oftih= 17} gt mfj k3 g £t

[LEpRLy— |
— Dad does wear glasses when he drives.
OfthH= 17} @%8t mff ot S Hak 24},

[Layhiy=| o= o=

| turned off the lights before | left the house.
Lt= &2 L] Mol 22 7ot

- | did turn off the lights before I left the house.
L= ZE mL| Mol 22 - Zch

| did want to pass the exam.

Many hikers do visit the mountain every day.

The shop does get very busy in December.

The medicine did help me feel better.

10 Crocodiles do live in the Nile River.

11 She did receive the invitation to the wedding.

Chapter12 E4312 35

p. 141



12 | did remember to bring some water.

POINT3 =x| p.142

1 A nice café was around the corner.
— Around the corner was a nice café.
Z2 7|7t ZZS0|E SO0tM AUCH
2 She seldom talked about her feelings.
— Seldom did she talk about her feelings.
T4 EXE J142| 7|01 CHall 0|oF7|SFX| Q4RALY.
3 The children rolled down the hill.

— Down the hill rolled the children.
Ol0|S2 S =21 WZUCE

4 The worker was hardly busy.
- Hardly was the worker busy.
3 L FRk= 2| HHX| QAT

5 The sharks swam in the water.
= In the water swam the sharks.
20{S0| 20f|M | UXCH
Under the tree slept the cat.
At the bus station waited many people.

6

7

8 Toward the castle walked the girl.

9 Rarely did they speak to each other.

10 On the wall hung the picture.

11 Hardly could she believe the news.

12 Never have | flown on a plane.

POINT4 =1 p.143

None of the computers in the library worked.

Fruit juice is not always healthy.

Not all of the trees were cut down.

Neither of my friends could come over to my house.

Not every road was blocked by traffic.

| don’t always go to school early.

None of the council members voted for Mr. Stewart.

Not all of the dishes looked delicious.

VO 0O N o0 U1 AN =

| had no complaints at all.

10 Neither coffee nor tea will be served today.

11 Never have | imagined that | would meet my hero.

2 |§-EI‘|| g1 XX |z arzan p. 144

A

01 It was a bear that stole our food from the tent last night.

02 |t was at the baseball game that | left my jacket on Monday.

03 It is piano that Lisa’s mother teaches at home on the weekends.

04 Jared does go to sleep before 10 PM.

05 Thomas did tell his biggest secret about himself to Christina.

06 It was Stefan that asked me to lend him my umbrella yesterday.

07 It is at the park that my brother plays with his friends after school.

08 It is his teacher that Peter helps in the science lab on Tuesdays.

09 | do hope you get better soon.

10 Mr. Bloom did play soccer on a professional team in his early
years.
11 | do know that we are in trouble.

12 Aaron did wish that his team would win the championship.

36 Yo 22 =0iF = ChYst 845 X2 MS HackersBook.com

13 At the hospital are the doctors waiting for the patients.

14 Never has Ella thought about moving abroad.

15 In the east rose the sun in the morning.

16 Within the books is the answer you are looking for.

17 You do remember Jackson, right?

18 The bus does depart from this station every hour.

19 In Daegu are a lot of wonderful restaurants.

20 Hardly did the students expect a pop quiz to be given today.

21 Toward the camera posed the model with the flower.

22 |n the waiting room waited Will for his name to be called.

23 It was the train to Gwangju that they missed yesterday.
24 She did like the new pillow.
25 The elderly are not always reluctant to change.

26 None of them could sing the song.

27 ltis in the fall that the mountain becomes colorful.

28 |t was the vase that Sarah broke in the afternoon.

29 He did agree to take the subway.

30 Not all of the people in the room noticed the difference.
31 We have no seats left on the flight to LA.
32 ltis in the gym that the basketball game will be held.

33 does — do

34 worried = worry

35 | had — had |

36 she can play = can she play

37 many people go — go many people
38 brushed — brush
39 do appears — does appear

40 studied — study

41 Ben had — had Ben

42 you can — can you

43 the lion stayed — stayed the lion
44 |ooked — look

45 A: Did you bake the cake yesterday?
B: No. It was Sam that baked the cake yesterday.

46 A: Is there a dish | can use?
B: None of the dishes are clean.

47 A: Did you leave your cell phone at home?
B: No. It was at the library that | left my cell phone.

48 A: Did you enjoy reading those books?
B: Neither of the books was interesting.

49 A: Does Ms. Bell teach dance class on Thursday?
B: No. It is Ms. Jang that teaches dance class on Thursday.

50 A: Will you go camping at Mt. Halla on Friday?
B: No. It is at the park that | will go camping on Friday.
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